REVISIONS

REV

DESCRIPTION

DATE

11.1
[y
—5.55~ &P~
i ] |
ﬁ 3 — |,: g 1 ]
: L3 T
\
— =Y H
- { L S b e b o
% 5 4o
\ THREAD  MOUNTING HOLE
[ I T T m—
M M} U
3 2 | K
] | i
o~
e — —_':1_1$:0.05
5
PART NO. | THREAD | MATERIAL FINISH PIES
PCB-7 M3x0.5 BRASS TIN PLATED M3
PCB-7R M3x0.5 |RED COPPER| TIN PLATED M3
PCB-7(M4) M4x0.7 BRASS TIN PLATED M4
PCB-7R(M4) | M4x0.7 |RED COPPER| TIN PLATED Mg
PCB-7(MS5) M5x0.8 BRASS TIN PLATED 5
PCB-7(632) 4632 BRASS TIN PLATED 557
PCB-7NI M3x0.5 | BRASS |NICKEL PLATED| \M32018-09-06
R&D
TITLE
MATERIAL DATE
SEE ABOVE 2001.03.23
FINISH DRAWN
SEE ABOVE
PART NUMBER DRAWING NUMBER COLOR SHECK
SEE ABOVE PCB-7
SIZE SOAL 51 N o REV C %‘JgLLE_EESnggHERMSE ;:ESIH;D APFROVED K
/




